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2 1,044m X 0.1m=104.4 m3 104.0
TR E K RIGA/INERE FAEHIENRE m3 104.0
THEERR &2 m3 104.0
TREERE 10tDT m3 104.0
KT nE KASHZELTNSE 6.0kmLLT m3 104.0
REREE T 2.5mk i m3 104.0
REMEHRE m3 104.0
YN m3 104.0
BAL Wiy FEIXEEMNT 104x1.11=115.44 m3 115.0
TRPEEWE 49.5kmLLTF m3 115.0
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£ 71 i Al ==X v = | 1§
2 0.09 X (32+195) =20.43 m3 20.0
THEERK TEMENRE WIGRN/IMERR m3 20.0
THEERR &2 m3 20.0

TRYEERE 10tDT 6.0KmLLTF m3 20.0
Rtung m3 20.0
EEHEKE SEER)IFLUE(FTILEE) 6100 m 320
ERER)IFLUE(FTJILIEE) ¢75 m 195.0
S L E—Hh %?gli INFRAE (0.082 x 32)+(0.086 x 195) = 3 19.0
C-40 m3 19.0
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kAR REHE 15236096 X 22mm 44K m2 37.0
B4 ® 4.0
E R
REAHZE-HE B8R 1.6t x 44K=6.4 t 6.0
pEE 6t x 2[A] =12t t 12.0




